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ZHA:500m . B, 22V BEE60%-> (FEHLhFEI0%FE R, AF B EI6%)
2,850,000kcal.” B (5,700kcal .~ m X 500 m)

1. NMAHTABHIADZE
EZ:700m /HXx0.6(AVEBE) X0.9(fEHFE)=378 M /B
378 m .~ Hx167A ./ m =63,126 ./ H i Ick->THE(IELS, EXBELHIMND
15 DIA :1,893,780M
£ZF:500m B x0.6( 2 RE) x0.9(EMHE)=270 M ~H
270 m .~ H x 167 .~ m =45,090A ./ H HigIck->THEITELS, EXBELHIND
1A DIA :1,352,700M

SEHMOTEH 50k
BLEFE, BERE
BHORELBIEE
BT DRAED
BHH1TOND

2. AITFIADIEE
B Z: 3,990,000kcal” B x 0.3 (R EZNZE) .~860kcal .~ kw=1391.9kwh ./ H
1391.9kwh.” H % 40.95[ .~ kwh =56,998[ .~ B
1A DIA :1,709,940M
1B Y=Y 57.8kwh--- RE# D H A H50kwit
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